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1 FolE 07.14 13:00 2tE 2] (Labri)/ L £ & 4dH g& ol HA 230,000 8
2 FolE 07.15 13:25 d7to]l_ofel = dHete oA FF 190,600 7
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4 @ FoF 07.20 1317 (F)&=h= ot (EIA| HEA) 4 g3 ol«+ 4 76,000 3
5 FolE 07.23 20:57 ()ehd 2 4dH g ol HA 194,000 7
6 ol 07.30 11:34 27tet M HE olfF =2 60,000 2
7 chE 07.01 12:44 YO HAE HEZHEZ] 95,000 4
8 chHE 07.03 20:03 (F)ollo| x| dF= AMGHE el FElof 2 AMY zhEE 158,000 6
9 chEt 07.07 22:08 sHU=F0] FR2LHOTH MEILTFARY =2 | 224,000 8
0 chEt 07.08 13:53 o E A AR TUBHARZ=|| 2deetr 24 =2 = 128,000 5

chE 07.10 13:55 (F)eo|2| FE0{A00E . AH ZUEHY 2t ofd HA 136,000 5
chE 07.14 12:52 (F)&at=Z ot /T2 BHE 27t 2 2HE 3] 140,000 5
chEt 07.14 19:58 S F AMEH Zzts|of 2 o/ HF - 153,000 6
chEt 07.20 13:12 (F)&atZotw/MdIt2 F2 HH olf oA HA 60,000 2
chEt 07.21 13:00 arael A HZh ZH ol A =9 168,000 6
chE 07.22 20:08 N & st+7t ZH fet ZH =9 280,000 10
chE 07.28 12:42 ool HHERH UPFE o[STx 2 AF &2l 159,500 9
chE 07.30 21:00 Cl2tol=ZAEldT|Z DA Zotelel 23 AMY =2 170,300 6
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